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Title:	[Draft] LS on D2R message size for inventory response	Comment by Lenovo: Title does not match with the LS content. Therefore, suggest to change it to e.g.

“LS on segmentation of D2R messages” or
“LS on D2R message size for inventory”	Comment by Futurewei (Yunsong): We agree with Lenovo here and prefer option 2 suggested by Lenovo, because we are basically asking the CN to always provide the expected D2R message size to the reader for inventory procedure, with or without assistant information from the AF.	Comment by Yi2-xiaomi: Agree option 2 is better. 	Comment by ZTE(Eswar): Agree! Option 2 seems fine. 	Comment by Ericsson: Agree with the comments above. The second option looks fine to us.	Comment by QC (Umesh): Prefer Opt2 + CATT suggestion below.	Comment by CATT (Jianxiang): Option 2 may be revised as “LS on D2R message size for inventory response”.	Comment by QC (Umesh): Agree, this is better title.	Comment by InterDigital (Martino Freda): Changed to option 2 with CATT suggestion	Comment by InterDigital (Martino Freda): Changed	Comment by InterDigital (Martino Freda): Yes - new text is aligned also with Ericsson’s comment, and I’ve added some text
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Source:	InterDigital (to be RAN WG2)
To:	SA WG2, RAN WG3	Comment by QC (Umesh): While this is the more formal way of addressing them, maybe simply ‘SA2’ is less confusing ☺️	Comment by Lenovo: Either way is ok	Comment by InterDigital (Martino Freda): Both should be ok.  Will leave the current version as is.
[bookmark: OLE_LINK45][bookmark: OLE_LINK46]Cc:	RAN WG3	Comment by QC (Umesh): Perhaps CC RAN1 is also good since segmentation not applied assumes that PHY can provide enough-sized TBS. 	Comment by Huawei-Yulong: Maybe not that critical. RAN1 can check our agreement. No strong view.	Comment by Lenovo: Ok to add RAN1 in cc: since they have to define the TB sizes.	Comment by Yi2-xiaomi: Do not see the need to Cc RAN1 since we still need segmentation for data. From TBS perspective, there is no difference. 	Comment by ZTE(Eswar):  Similar view as Huawei. i.e. this should not really be the bottleneck for TBS design – so not critical, but we can keep them in CC. 	Comment by Ericsson: No need to cc RAN1	Comment by InterDigital (Martino Freda): Seems no strong motivation to CC RAN1 and as commented by Xiaomi, still need to have segmentation for data.	Comment by CATT (Jianxiang): Agree to Cc RAN1	Comment by Huawei-Yulong: Maybe we need to put RAN3 to “To”, since RAN3 will define the signalling from CN to reader to provide such D2R message size information.	Comment by Lenovo: Ok to add RAN3 in cc:. See our comment to the actions part.	Comment by Yi2-xiaomi: Ok to add RAN3 in CC. 	Comment by ZTE(Eswar): Agree with Huawei, may be better to add RAN3 in “to” and have an action (same as SA2). The need to define signalling. 	Comment by Ericsson: Fine to cc RAN3, i.e., no need to add RAN3 to “To”. Please see our comments below for the details. 	Comment by QC (Umesh): We also suggest to move RAN3 to TO since they would need to take this into account for signalling. They also have FFS whether NGAP Inventory Request should include ‘estimated inventory response size’.	Comment by Apple - Zhibin Wu: We also agree to move RAN3 to “to"	Comment by InterDigital (Martino Freda): Moving RAN3 to “TO”

Contact person:	Martino Freda 
martino.freda@interdigital.com 

Send any reply LS to:	3GPP Liaisons Coordinator, mailto:3GPPLiaison@etsi.org

Attachments:	-

1	Overall description

RAN2 discussed segmentation of D2R messages and made the following assumption on inventory response message size.

Agreements on segmentation
4 For inventory response, RAN2 assumes that segmentation is not applied.  RAN2 assumes that the reader can avoid segmentation by reader being aware of inventory response size.  Notify SA2 about this assumption.	Comment by Huawei-Yulong: There could be the confusion that this is coming from device. However, the intention is to get this information from CN.

I propose to add below text:

“RAN2 made the related agreement to not support D2R message size information reporting from for device side.
1-bit indication is sufficient to indicate whether more D2R data will be sent

“	Comment by Lenovo: To our understanding the 1-bit indication is only used in case of segmentation. Therefore, it does not apply to the RAN2 assumption made.	Comment by Futurewei (Yunsong): Indeed, our expectation is that the reader will always receive the expected D2R message size information from the CN for inventory procedure, with or without the assistant information being provided to the CN from the AF. Maybe we can reenforce our message to SA2 in the sentence below and in the actions (please see our comments below).	Comment by Yi2-xiaomi: We may simply add a note after the agreements as
RAN2 made the related agreement to not support D2R message size information reporting from for device side. Therefore RAN2 assumes that the reader can get the inventory response size information from CN.	Comment by ZTE(Eswar): Agree with the comments. We should clearly convey the message that we expect this information from CN to reader (and we don’t get it from device). 	Comment by Ericsson: There is no need to include the RAN2 agreement below:
“1-bit indication is sufficient to indicate whether more D2R data will be sent”
It is not directly related and it would probably be confusing to other WGs without providing the related context.

If majority of companies think that a clarification is needed regarding this agreement on segmentation for inventory response, we should not add or change anything in the agreement box, but we may revise the following text instead:

“RAN2 would like to notify SA2 about this assumption” => “RAN2 would like to inform SA2 that RAN2 assumes that information on inventory response size is not provided by the device.” 

Note that it is not clear to us, whether such information, i.e., inventory response size, necessarily requires new signalling from the CN to the reader. Maybe. Therefore, we do not want to imply such signalling in this LS without further discussion. This is also why we think it would be sufficient to have RAN3 in CC.  	Comment by CATT (Jianxiang): Agree to clarify ‘Therefore RAN2 assumes that the reader can get the inventory response size information from CN'.	Comment by QC (Umesh): We also support to add this clarification.	Comment by InterDigital (Martino Freda): The suggestion from Ericsson (with some wording adjustments) seems to address the initial concern, without the need to include additional agreements in the LS and have to further explain them.	Comment by ZTE(Eswar): This part of the agreement is redundant (it is just there for us to work on the LS and we are sending the LS, but may be not just to SA2)… so, can be removed. 	Comment by QC (Umesh): Agree. Ok to remove this part.	Comment by InterDigital (Martino Freda): Ok.

RAN2 would like to notify inform SA2  and RAN3 that RAN2 assumes that the inventory response size can always be provided by the core network to the readerabout this assumption.	Comment by Lenovo: Suggest to say instead:

“RAN2 would like to ask SA2 to provide feedback on the assumption made with regards to the inventory response size.”	Comment by ZTE(Eswar): I think we should say something like: 

“RAN2 respectfully requests SA2 and RAN3 to take the above assumption into account and specify the necessary signalling from the CN to the reader to convey the size of the inventory response message. “	Comment by Ericsson: The proposed formulation from ZTE above is not fine for us. Please see our related comments above.	Comment by QC (Umesh): Adding RAN3 in this line is ok but ‘specify necessary signalling’ may be too far. They will specify if needed. That is already covered by ‘take this into account’.	Comment by InterDigital (Martino Freda): Based on comments, adding RAN3 to TO seems majority view, but adding extra details about what RAN3/SA2 should do will anyways be upto them and should be addressed in “taking into account”	Comment by Apple - Zhibin Wu: If RAN3 is added to “to”, then RAN3 will also to be added in the action part.o f this LS	Comment by InterDigital (Martino Freda): Yes

2	Actions
To SA WG2, RAN WG3	Comment by CATT (Jianxiang): RAN3 can be included as well.	Comment by InterDigital (Martino Freda): Done
ACTION: 	RAN2 respectfully asks SA2 and RAN3 to take the above assumption into account in their work and provide feedback, if any. notify RAN2 of any issues.	Comment by Futurewei (Yunsong): (see our comment above)

“assumption” -> “assumption and expectation”	Comment by InterDigital (Martino Freda): Assumption seems sufficient

3	Dates of next TSG RAN WG2 meetings
RAN2#130	2025-05-19 – 2025-05-23		Malta, Malta
RAN2#131	2025-08-25 – 2025-08-29		Bengaluru, India




